HENEREREHES
SHIS5E4H108 (H)

Mt

€:E3::) (BT : kg )
SRR ==Y H 2 5 1B Z B fm &
HE 228 N1 1,598.9 55 35
N> 290.8 56 31
<t/ 12,828.8 180 50
E=X 2,969.0 1,230 369
HSXH LA 292.8 301 33
JUH LA 1,281.3 561 20
LEHLA 383.6 369 40
LA 175.2 209 35
FHELS LA 1,125.4 970 20
=FHLA 108.1 370 69
<AOLA 29.0 601 283
HNSAHLA 999.9 155 30
L0 97.9 62 20
JA5S 651.2 260 31
2O0F 1,019.6 400 20
VAXTY 3,918.8 2,100 570
<7rd 121.1 1,633 519
TIAITAF A 84.8 200 20
F+77>39 2,127.1 298 20
HFHS 277.2 100 35
AXF 150.9 559 239
<0 160.1 179 20

e

28,801.8




[fi¥fa) ( BEfT @ kg )
pE g ==Y =2 = & Z & s =
ShE  23& THLWY 79.8 5,252 155
aAXHYT 54.4 800 20
gH= 77.4 5,100 300
R e . 17C/S
58 76.5 17,777 3,131 |y o
2SR IFINA 64.3 641 401
ZILAA T 145.8 481 200
ZILAA F5E 95.0 3,000 2,431 ﬁfl‘”/s
1 c/s
UAH 369.1 930 500
e §5(§63C/S
A H58 315.0 5,220 2,750 | r o
> RYAH 104.0 709 621
A == 2,694.5 796 50
A< 265.9 2,050 500
Hu= 33,143.5




€:E3::) (BT : kg )
SRR migE ® 2 5 1B Z B fm &

BEXRHE 228 |/ 44.5 209 30
=>0OX/)VUl 253.9 1,300 743
0> 50.6 1,616 800
ARXF 94.7 543 163
5€ (/>hHD25TH 1,580.2 3,330 750
2 8% X X)L 25.8 1,000 200
>0OX/)VUl 288.2 1,350 300
NC 208 JUH LA 51.9 325 21
TILSHATH 24.2 69 50
ESWYXHTZ 85.0 660 121
EXTYRS 193.6 300 100
ERVHA 25.6 460 144
DDEIE 388 E~TOY 3,695.1 350 300

D
[ =]

T2

6,368.8




[(&£) (BT ¢ kg )
JRETELE BfEg = /[E] Z 1B B &
K 232 E=5X 514.1 1,500 600
<73 484.7 2,800 1,500
=247 37.2 800
EEXRIFE 228 |E5 X 27.1 1,300 800
I5A 33.4 1,500 400
XXF 512.9 650 300
#H 8& E=5X 43.7 2,000 1,000
hS 208 <A 406.3 1,800 1,000
=45 36.6 1,200 600

T2

2,096.0




